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APTUKYAN. 1724
Pacxon Bo3ayxa, m3/c 0.04
CKOpOCTb BO3AYX3, (M/C) 12
AT Bo3ayxa npu T BoAbl H3 BX0A/Bbixoz 60/40, °C 233
Pacxon BoAabl, n/c 0.01
CKOpOCTb MOTOKA BOAbI, M/C 0.1
A3poarHammnyeckoe conpotrsnerve (kMa) 0.1
MotyHocTb (KBT) 1.17
AT Bo3ayxa npu T BoAbl H3 BXoAe/Bbixoae 90/70,°C 44
Pacxopn Boabl, n/c 0.03
CKOpOCTb MOTOKA BOAbI, M/C 0.2
A3poarHammnyeckoe conpotrsnerue (kMa) 0.4
MotwHocTb (KBT) 22
Knacc punstpa F5
Anarpammbl Bo3ayxoHarpesartens VBF
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0.16 0.17 0.28 0.44
4.6 1.8 1.7 2.7
12.6 259 26.2 215
0.03 0.06 0.1 0.14
0.2 0.5 0.4 0.5
0.5 3.5 1.6 2.6
2.4 5.31 8.82 11.67
25 44.3 44.9 37.2
0.06 0.11 0.18 0.24
0.4 0.8 0.7 0.9
1.6 8.1 3.7 6.3
4.76 8.97 15.11 20.18
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